PAPER - 11
GEOGRAPHY
Note : Attempt all the questions. Each question carries two (2) marks.

G@HLY : eréver eflenmés@Ers@Eh el wallssea|b. geubeurarmlh@d @rear®h (2) wdHituearsar.

1.  The science of study of soils is called
1)  Pedagogy 2)  Pedology
3) Geology 4)  Morphology
LoewTenemLILIBY SnpId UTLLD 61gh?
1) OQuLsrd 2)  GuBLmeor)
3)  SBuwmeored 4)  wirGureorel
2. of incoming solar radiation is reflected back to space.
1) 05% 2) 35%
3) 5% 4 95%
GlwugienL W sFHTaiFasel delalene FHaisld alauCaleidsd o 61Gen
CFevdBa.
1) 05% 2)  75%
3)  35% 4)  95%

3.  In which of the following months does the Tamil Nadu coast get most of its rainfall?
1)  December to February
2)  March to May
3)  June to September
4)  October to November

SOPBTH SLBHMI LGHH6Me0 SIHD Slene] ed QUUISIEIB LOTHBIH6T 6Tene?
1) 19 FbLIF— 1 1T

2) omgd—Gip

3) &°GT—GIFLIL_LbLIF

4) 91&CL_mL—BeubLy

4.  Horse latitude is the knick name of
1)  Sub tropical high pressure belt
2)  Sub polar low pressure belt
3)  Polar high pressure belt
4)  Equatorial low pressure belt

Py alFOFLmeD GTHIB LILL QUWIT SibeuheueiouBpled etauBplish@ QBTHHSILGSBEHI?
1) GeuliL T VSHFH 6T S 2 _6iTen DHBLOTEHT HTHBBAPSHSHLD

2) QL HIHOUTSHH T S 2 6o GMBHS DI(WWSHH Geulit Geusld

3)  ALIGUGHBGL CHHHGUSSBEG BB 2Ps e WSS

4) BlovbBECHTL ML SBMIL|6Ten  STLDEUTET DI(LPSHSLD
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5.  What forms the first trophic level in any ecosystem?
1)  Herbivores 2)  Plants

3)  Carnivores 4)  Omnivores

GeuliL WL 6V HBEBIF GH60 DIMOLINHL 2 (HUTHGHEM HTEUFLD 6Teneu?

1) Qam i IGaurren 2)  BTeuHIGB6i
3) SIS 6UTav 4)  gilafaierd
6.  Which article of the Indian constitution enshrines it as one of the fundamental duties
of every citizen of India to protect and improve the environment and wild life
1)  Article- 51 A 2)  Article- 52 A
3) Article-53 A 4)  Article-54 A

Gsaial FHelvals SLMWHMET] UBBIWLD SiIST FBHNI @G0 LBHID  6ueT  &il6umiEE6l
urgisTiugl  GurasiBaumpled &eaued OFsHsH Gouewibld 6aim SbHw DFFuisd  Sienioli]
FLLSFHD 61bD LGS FmBISBsI.

1) eopiy — H1A 2)  ompnny — 52 A
3) sy — B3 A 4) opnny — 54 A

7.  Which one of the following pairs is correctly matched?
1)  Taiga — rosewood
2)  Tropical deciduous — maple
3) Mediterranean — olive
4)  Selva — mahagony
Car@Bsaiul(BeTen amTsHmapaeisd 6bhd Gemenliy GsFidmses Ffwns o eeng?
1) ossmT — FhHIDJD
2)  Qeuliu 6WIL6v Bemevu|dTHmevS e — GloLled
3) Ol GLfler — syedel

4)  devaur — D&HTHEN

8.  Who wrote ‘Cosmos’ in 18457
1)  Carl Ritter
2)  Alexander Von Humboldt
3)  Strabo

4)  Varenius

1845—a &merdBerd g eTpSHWieuT wimT?
1)  smied ML

2) OI0evsaTemiLT Gousst <oydGLimevr”
3)  erognGui

4)  Geureiwerd
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10.

11.

12.

In the concentric zone theory,which lies next to central business district

1)  Transition Zone

2)  Middle Income Housing

3) Commuters Zone

4)  Zone of better residence

QUTE MLWSHMSH 2 DL Ul LDEHIL VD 6hG eIl 6UTeRL LOTHeVSHIHE dBHH CFeFBSHI
1) SLwIBBD eI 60LD

2)  BBSHT BT 6 (G enowibd

3) OKETT HTe| SEHIDLIL LOERTL 6VLD

4) BV GQUI(BLIL LDGIIL 6VLD

Of the following, Chandigarh is a

1)  Pilgrim centre 2)  Mining centre
3)  Administrative town 4)  Cultural Centre
CETEHBILL L neuseien FewNgaTT 6eim EL Lb

1)  @n uslissebd 2)  &ImIs emLOWLD

3) BiTeuTs HSBJLD 4)  SHeUTHFENT EMLOWILD

As per Mackinder , the’ Heartland’ in his theory refers to
1) Inland Europe 2)  South Asia
3) Eastern China 4)  North Africa

QueaTda T Camiurt®h GHul @LID oI6iml 6hSH BT ML 2 6wlTHHISMIT?

1) eGymidw mBr® 2)  Ospe ewdwr
3) Guomg g 4) oL oynifésm

The ‘ribbon pattern’ of rural settlement is called as

1)  Nebular village

2)  Plain village

3)  Semi —circular village

4)  Street village

MU augeuemohd SFTOLB GHIQUIHLIL 6TEIBl 6TeuBeNB  SIenLSHESCBITLD.
1) Puueo &gmoid

2)  Guily S606TS ST

3)  yegeul L &gmioib

4)  Oxm SHymobd
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13. The biggest sugarcane producing country in the world is
1)  Brazl 2) Java
3) Cuba 4)  Mauritius
IHB lee] FTHHMT 2 BUSHHUTID 2 05HHC0 (PHILSHH60 o sitern BTG 61517
1) LGy eL 2) et
3)  duwur 4)  Buwfierd

14. Which among the following is an example of a community?
1) Family 2)  Marriage
3) Village 4) Refugee Camp
BB QBTHGHBLILIL L MeuH6eMed 6% FUPSHTUHHBEG 6IBHBHISHTL LTS alenmiGHma
1) @@wuD 2)  seowmewild

3)  &gmobd 4)  gmHaeiar GQUimLIL

15. Dayak is one type of tribal group living in
1)  Nigeria 2) India
3) Indonesia 4) Russia
LTwmé e UphGuieamea Searshms FTibHelTsened
1)  epgdilum 2)  @bFHur
3)  BiCxHTGadluwim 4)  geadwr

16. Indo-Aryans belong to the
1)  Mongoloid races 2)  Negrito races
3)  Nordic races 4)  Caucasoid race
AhHwu — spflwiser ebd Bardhamd CFTbHaHeuTaHern
1)  worGsredwir Seb 2) Gy Seuid
3)  mIgd Sevtd 4)  @ssaurulp @b

17. The Masai tribes are a primitive groups of which of the following occupations?
1)  Pastoral 2)  Gatherers
3)  Agricultural 4)  All of these

BrsfELOHD OTENF LIPEIGLUleTT abhs OaTamev GoBosmemrLmiT?
1) B, 01H e6THSH60 2) 2 _awe QUTHeTEmeT BF&MILIGITSGIT

3)  aleugnulsei 4)  SEUB6T 6160EVTLD
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18.

19.

20.

21.

The Danadakaranya Project includes the tribal areas of
1) Jammu and Kashmir 2)  Rajasthan
3)  Odisha 4) Madhya Pradesh

SHOTHTHTEHIT 6108 S LD LRSSl whsellar apsd UGHamen GBS Bas?

1) by wBmGID STt 2)  @yTeerdsmen

3)  Quogm 4)  wHHW Ny8HFD

Which of the following years were declared as “Plan Holiday”?
1) 1964 — 1966 2) 1965 —1968
3) 1966 — 1969 4) 1967 -1970
SLLOCL alBwens 6Iaiml 6hSH LeHIBHMeT DenLPHSHEHBTLD

1) 1964-1966 2) 1965-1968
3) 1966-1969 4)  1967-1970

Which among the following separates Lakshadweep Islands from Maldives Islands?
1)  Eight degree channel

2)  Ten degree channel

3)  Nine degree channel

4)  Pak strait

& @I (Heenensuseiled cTemeu BevFgHdHemel LTSS LO(HHES LIfeHBg?
1) a'(G WLEG SeTmel SLlHE

2)  USSH IDLEIEG SleTdal HLh

3) @&UBH IDLEIG DeTMa Bl [HSI

4) Utk QevFHI

Which of the following divides the entire peninsular plateau region into two parts?
1)  Aravalli mountain 2)  Siwalik mountain

3) Narmada Fault 4)  Garo hills
SLDTET HL6O UGHWD ughd GuLmer swgenl uGHew Brewiins Lfdgh @b eg?
1)  sygeueerdl 0MEOSHOSHTLIT 2) Heameds 10m6e0SHEBTLIT

3) BT Lmer 4)  QaWIBHT WMmEVGHEIHTLT
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22. How many number of time zones Russia has?

H 9 2 7
3 5 4) 3
gowmaled T Henen GBJ LOGIIL 6UMIGH6T © _6iT6renT.

H 9 2 7
3 5 4) 3

23. The temporal resolution of IRS — 1A satellite is
1) 32 days 2) 22 days
3) 28days 4) 15 days

IRS-IA goysmenis@ OHTRSHILL SDHTEOISLOTET BT &H6T 6Teneu?
1) 32 days 2) 22 days
3) 28days 4) 15days

24. In a frequency distribution, the lack of symmetry is termed as
1)  Kurtosis
2)  Skewness
3) Moments
4)  Mean
Q@ GOHUUILL ugHuled gBulL Babaseie QUTHSSD 6ailg g GBILLBHBS.
1) G
2)  evayOpav
3)  Gur@e o

4) e

25. What is the length of the equatorial diameter of the earth?
1) 6,347 km 2) 9,797 km
3) 12,757 km 4) 15,457 km
LOWIeImhEH Hlevbhd CaTL ML DIeNHHDHIIgUI SI6T6)| 6TeiTen
1) 6,347 §..8 2) 9,797 9.8

3) 12,757 @..8 4) 15,457 .18
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26.

217.

28.

29.

The name of the supercontinent that broke apart as the seafloor began to spread

hundreds of millions of years ago is
1)  Eurasia 2)  Tethys

3) Pangaea 4) Panthalassa

aIFd  ugliuenesenet Gsmewi  Was Quflw  sewiLiomeig &L BamIulled(bHhal

BEIBBTeNIgBSE (P 2 (HeuTer BT g GLIWIT 6resenr?
1) wGydlwr 2) FHwzerd

3)  ummRdwm 4)  umbGeoTaT

The interruption of the cycle of erosion is termed as

1) Rejuvenation 2)  Degradation

3) Aggradation 4)  Retrogradation
oIfiuy spBd gnuBeudermed Cameasiw allenermeyseir sleire?

1)  foeuGerser 2) ACICLFe

3)  ©IHaI6LFe 4) M Gyr HCyGLae

Deepening of river valley is

1)  Epeirogenetic 2)  Endogenetic

3)  Exogenetic 4)  All of the above
SBBILGTNHSHTHMS DLPLILIGSHHILINE! 61606 T

1) engfGunGge 198 2)  ea@BLT QFe g

3) aaBsr GFen g 4)  Boea cpaipid GaihHemel

The concept of “Normal Cycle of Erosion” was given by:

1) Davis 2)  Penck

3)  Strahler 4)  Thornbury
Fngmyent Sy SHEBFS Ul SHesTenoenul FamlwieuT wim?

1)  GLalew 2)  Queieis

3)  evgsHeui 4) G

dfba  BIml
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30. The term ‘anticyclone’ was used for the first time by
1)  Abercromby
2)  Francis Galton
3)  Solbery
4)  Petterson

Ozpeflbe aMAISIHILGT Fnlgll SDIHOHWTET  UTHMeVSE STJeRIOTe o W STHBBRSSILGS
o elendsd sauBems GUBILILIBSBEI?

1)  ourgGymbL
2)  Lymedterd &TeOL 6ot
3)  amebGu

4) QUL L_fFest

31. What are the katabatic winds?
1)  Flow of air from high pressure to low pressure
2)  Flow of air against the normal pressure gradient
3)  Flow of cold winds downslope under gravity
4)  Flow of warm air downslope under gravity
SLIUTLI9H SHTMBHI 6T65TBT60  6T6d16017
) ogs geme sphd SWHsD GoBhs SleTe) CaassTBY SNWSHHD
2) Bswial MEBWSS e SWDHHD
3)  WUSD STHBWHHD GMBHS S| BUSHLTHND SIWHHID
4)  g@s yaluimiy elms CsTei_eme

32. Which of the following port had been developed on a lagoon?

1)  Chennai 2)  Mumbai

3)  Kochi 4)  Vishakhapatnam
6hd SIMBIPSHID 2 LLET BHeBhHe SMBUPSIOTS SHBSILGEBSI?

1)  Goeremer 2)  (pbevu

3) Gargd 4)  elersluliged

33. When was the Project Tiger launched in India
1) 1971 2) 1972
3) 1973 4) 1974
yalufer erewieniibens SiFafiy HLLb GhHuralsd e6bhs SuemB OsmemGeuriiul L gi?
1) 1971 2) 1972
3) 1973 4) 1974
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34.

35.

36.

37.

38.

Which one of the following scholars was the first to divide the world landmass into
three continents: Europe, Asia and Libya?

1)  Alexander 2)  Hecataeus
3)  Eratosthenes 4)  Herodotus

absd Ualulwed e 2 eaHmd eyl S miseorer fGrmiur g fwr, flwr  eTeisl
g amit?

1) 90605 FTEBTLT 2) QawssriiLaw

3)  &ym GLrevgeilend 4)  afGumm ev

Who is differentiated geography and chorography?

1) Al Idrisi 2) Al Masudi
3) Ptolemy 4)  G. Taylor
yalwensouwld &mev suenFWenguld elsSHwmaFiLGsHSuieuT wmi?

) o0 gugded 2) o6 WGP
3)  Lmeuld 4) G. QLdevd

Who named the human dominance theory of “man-environment relationship” as
‘Possibilism™

1)  Lucien Gallios 2)  Lucien Febvre
3)  Jean Brunhes 4)  Vidal de La Blache

wellg Guoeordldss GCamiur@h weld SBBILUB Gl 2 paysar—urediefFdb  HL (DB
CaweoLTBsmen LB gnplweuiT
1) endwer &e9696wi 2) ardlwer Geuri

3)  Awmer uiTeerd 4)  eweuLed 19 eum Lleonsd

Who was the first geographer to ascertain the length of the equator?
1)  Eratosthenes 2)  Herodotus

3) Alexander 4)  Thales

WwHe0 Ualulwied euevayesy WoshHw Crens GamlienL Slemail Leuf wimr?

1) a@ymerbgHentlerd 2)  afGumm ev

3)  Qavssme 4)  srewev

The state which has the highest percent of SC population is

1)  Punjab 2)  Uttar Pradesh

3)  Andhra Pradesh 4) Tamil Nadu

6hd LOMHeLSHHe0 LIBUBSHSLILL CLTTHeMNET EH6MOFHTNE DHS D66y FHAHHH60 2 666l
1)  uehsm 2) 2 581 18xhsd

3)  aupdy Gzeb 4)  o0DET6

11 MO0802



39.

40.

41.

42.

Detroit are famous for

1)  Automobile industry

2)  Cotton industry

3)  Rayon industry

4)  Chemical engineering industry
QLITUIL 6TeTLSl LsD eumuibs

1) o GLrGwrenLed QHTABFTMm6D
2) umsH CsmPBaTEm6D

3)  eywmer QFHTOBFTE6V

4)  gmw Qupdy QFHTHBFTED6V

Which type of rubber is grown in India?
1) Ciara 2) Hevea
3)  African rubber 4)  Ficus elastic

abhs elsomer JLLT @bhHwTaled euenTdbsiLBSBHI?
1)  SAwmgn 2) @alwur

3) S NMbeer FrLIT 4)  sev eTevmevI)s

How much of agricultural land is irrigated in India?

1)  12% 2)  35%

3) 29% 4)  48%

aeldeney FHaldls aleusmul Heold GHAWTaled BTLTFEI [HEVDTE 2 6i6en.
1)  12% 2)  35%

3) 29% 4)  48%

Sparrow’s point is famous for

1)  Steel industry

2)  Aluminium industry

3) Heavy engineering industry

4)  Automobile industry

eo@Buym  (pemedt et FBHS MHBIeU6ITLD

1) Sy 0smiBsTeeo

2) gfalwd QsmAsd Framev

3) SlpeaToTd QUIHFHTD CFuwsgmgul CHTHBETMme

4)  oursen oaig OHTOBFTHm6L
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43.

44.

45.

46.

The ‘New Australians’ include

1)  Vietnamese, Japanese and Chinese
2)  Britishers, Italians and other Europeans
3)  Anglo-Americans

4)  Modernised native population

yHw el gmelwer ehs auems BarsHms CFTbHHeuTeern?

1) alw Bmidled, UUTENWTE6T BBID EHFEITEHEIT

2) SRIFGeowTH6T, BHHTellwiTaeT wBBID CrmiiwiTselt

3) SRIBGeT G BTH6N

4)  paler G9Ldsei

What is the major occupation in equatorial region?

1)  Growing cereals 2)

3)  Growing of tropical crop 4)

BevbBECHTLG Wwewl6v LGgHule (Lphalwl aleugmuibd

1) U@y eIHBHMENT GUETITEHSH60 2)

3)  Qeuluemi6v LUITHEMET 6U6ITHH60 4)

When was IRDP started in India?
1) 1940 2)
3) 1978 4)

Growing of citrus fruits

Animal rearing

GTENEUSHEIT?

LILDGUENBHEHEN6ETT  GUGTTITEHSH60

B LOT(HBEMEIT  6U6ITTEFHE0

1950
1989

@hHw Sgmoys euenTdFS Hir b eTLOUTIRSI SHluSSUILULL i

1) 1940 2)
3) 1978 4)

1950
1989

Which among the following is the first planned city in India?

1) Patna 2)

3)  Chandigarh 4)

Gphawmalsd HULIOLGH SewsSsIUlL BBJD 61&7
1)  umem 2)

3)  Fewngsmt 4)

13

Gandhinagar

Pune

SMHAHHST

LL6oTT
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47.

48.

49.

50.

When was Indira-Point submerged under water?

1) 2005 2) 2004
3) 2007 4) 2002
@hAHIT (Lpenet Hewieni(hL 6T TLOUTIDSI DenemtdbsLILL L g7
1) 2005 2) 2004
3) 2007 4) 2002

What is the latitudinal extent of India?

1) 84 Nto37°6'N 2) 6°4'Nto37°6'N

3) T7°4' Nto36° 7N 4) 84'Sto386'S

BeopBd BT e HHaH LSS Slevevd 0FBEG SHewauled @pbSwralet SHITD eleireo?
1) 84 Nto37°6'N 2) 6°4'Nto37°6'N

3) T7°4'Nto36° 7N 4) 8°4'Sto38°6'S

Father of Green Revolution who received the Nobel Peace Prize in 1970 is
1) Norman Borlaug

2)  M.S. Swaminathan

3) C.M.R.Rao

4)  Vargas Kurian

ugenlo LIl Huler Fhend etaipl SiewpSslLBUeuT 1970 oub Grmusd ufla GuBBeuT wmi?
1)  mriwer Gumiteoré

2)  M.S. samdprse

3) C.M.R. ymei

4) uiGev @ Hlwest

The loxodrome is a

1)  Line of constant bearing crossing all meridians at the same angle
2)  Straight line on a map projection

3) Line drawn parallel to the equator

4)  Line representing a small circle on the globe

0BBFLmO  eT6oTLIGI?

1) BemeOWITd  SHTHIE  QEBT6Ten dnigll UL BIHOUSMBUD OHGTHIHEUSHMSWD @F GBI L
UGHUWId DmenidHH @b HaneoulelHhal HLHDH FwmigUiens

2) ybeueny ULSHO Lgsueiss gnigul euamenwimsd Csr®
3) ywHAWLGTMBUISET 15 o eiten BwaGHT(H
4)  yduler Bseuemrwiu’ L @ eul Liorer Gsr®

MO0802 14 F



ROUGH WORK
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